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1 Ok 31 @O 61
2 F O 32 =015 62
3 MO 33 OB 63
4 RO 34 LOR 64
5 £ [OF/N 35 =1OF= 65
6 =08 36 FOE 66
7 B O 37 Nex 67
8 #HO¥® 38 =1OF5] 68
9 B O 39 FEOZ= 69
10 FOWH 40 ZOH 70
11 HO#E 41 FBOR 71
12 B OfE 42 FHOH 72
13 BOE 43 EOH 73
14 =04 44 RO 74
15 MOR? 45 ZIOHR 75
16 M OBR 46 =01 76
17 B O & 47 EOR 77
18 BROEE 48 FOH 78
19 £ [Ohvi 49 NOE= 79
20 RO 50 MOLE 80
21 =0 51 LTOE 81
22 208 52 T OKE

23 HOE 53 FOF

24 FOZE 54 BO#%

25 BOM 55 = O

26 FOE 56 = OHR

27 2O 57 2O

28 RO 3= 58 NOF:=

29 FOR 59

30 A O 60




